= o
N & o & AF & H A A
201789 = S0l& LB =l MaXRA
SN FUMBTRA
g NAS5 dgd &
Chel: Q) =MESR (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
FOolMETAA 10,215,125 9,242,843 972,282
= 5,699,863
Xl 104,280
J| 61,200
< 1,105,392
Al 3,244,390
MNASE 420y X 6,748,473 6,705,585 42,888
= 5,207,110
Xl 51,651
< 581,701
Al 908,011
R R o, 5,676,442 5,567,841 108,601
= 4,430,410
< 540,706
Al 705,326
IIzdasdaods 29 3,480 3,480 0
201 et 1,680 1,680 0
01 At 2teltl 1,680 1,680 0
ONZMBLSHIAS FH2Y
70,000& * 4% 63 1,680
202 oddl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OJNZEMEPE HHEX 1,800
MASEF0 HHadEs It 10,725 10,725 0
307 21201 A 10,725 10,725 0
06 2= 10,725 10,725 0
OMASFE HH&dE2EE
7,500& « 1,4309H 10,725
HAS A 5,355,012 5,178,800 176,212
= 4,284,010
< 535,501
Al 535,501
301 LAz 5,355,012 5,178,800 176,212
= 4,284,010
= 535,501
Al 535,501
01 Ml28E +06l= 5,355,012 5,178,800 176,212
OMAZ0I(1,6008) 5,355,012
= 4,284,010
< 535,501
Al 535,501
ME= = | 23,475 19,440 4,035
308 X EHSOIA 23,475 19,440 4,035
08 WSIIA0HetE = 23,475 19,440 4,035




SN =

IR
Ha: HASE MUY X8
017 %

Chelr RO MBS CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ous=0(210¢) 23,475
HAZEHS N 43,000 49,900 26,900
= 34,400
< 2,580
Al 6,020
301 et a = 43,000 49,900 26,900
= 34,400
< 2,580
Al 6,020
01 MEIBEE 2063 43,000 49,900 A 6,900
Ot E M =0 (56Y) 43,000
= 34,400
< 2,580
Al 6,020
e HAsE NE 120,000 120,000 0
307 21201 A 120,000 120,000 0
01 =LA =4l 120,000 120,000 0
Oxael MASE mUALESEE N
10,000,000& = 12& 120,000
AARAAE 2= H 43,750 69,797 A 26,047
= 35,000
< 2,625
Al 6,125
301 et a3z 43,750 69,797 A 26,047
= 35,000
< 2,625
Al 6,125
01 AR 2Z A5l 3 43,750 69,797 A 26,047
Oxtatel =gl X 43,750
= 35,000
< 2,625
Al 6,125
Jz=a i &30 & 77,000 115,699 A 38,699
= 77,000
301 et d = 77,000 115,699 A 38,699
= 77,000
01 MI2EZE+6l= 77,000 115,699 A 38,699
Odlz==2 X 2= X 77,000
= 77,000
HAs X 1,072,031 1,137,744 AB5,713
= 776,700
Xl 51,651
< 40,995
Al 202,685
NETEdH 29 292,739 264,230 28,509
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L= B

el

o
B b 12

Jn-Jin oz

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 204,018
Al 87,821

307 2iz2to| A 292,739 264,230 28,509
=2 204,918
Al 87,821

10 MM SAANEEHESIGHEX 292,739 264,230 28,509
OXEXeEdyH 29 292,739
= 204,918
Al 87,821

JbARZEY &2 X& 64,564 71,250 6,686
Xl 51,651
Al 12,913

307 QI2t0| ™ 64,564 71,250 6,686
N 51,651
Al 12,913

05 QIZtREZ 64,564 71,250 6,686
OJIAIZHY 82520 dXHIR M AFY 64,564
Xl 51,651
Al 12,913

Ez2z XN 683,250 769,554 N 86,304
= 546,600
= 40,995
Al 95,655

307 2Iz2t0| & 683,250 769,554 N 86,304
= 546,600
= 40,995
Al 95,655

11T A EXAIEEX 683,250 769,554 N 86,304
OXEZ2Z ALY 683,250
= 546,600
& 40,995
Al 95,655

S|IAISESHAY XS 12,884 15,178 N2,294
= 10,307
Al 2,577

301 YerE A 12,884 15,178 ~2,294
2 10,307
Al 2,577

01 Al B & A 462 12,884 15,178 N2,294
OogYlssd XA 12,884
= 10,307
Al 2,577

HWeolsssd JIH 18,594 17,532 1,062
= 14,875
Al 3,719

301 et A= 18,594 17,532 1,062




SH: FOIMBIHA
U HASS MPOY X
G MAS NEXH (2 &HH)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 14,875
Al 3,719
01 Al B & A 462 18,594 17,532 1,062
ougIESEE X 18,594
= 14,875
Al 3,719
FOIMETRAAEA HEHH 2= 1,171,332 846,307 325,025
= 342,159
N 52,629
J| 61,200
= 51,011
Al 664,333
FAHS B 38,488 27,088 11,400
o=} 10,000
Al 28,488
HAX S 10,260 6,860 3,400
201 et | 2,500 1,500 1,000
01 AP 2t 2] H| 2,500 1,500 1,000
O D AFYX 21D 2,500
301 et A= 7,760 5,360 2,400
01 Al E & A %52 7,760 5,360 2,400
OdleiXtrE =4I 7,000& * 1541 % 128 1,260
OdeA X eI 20,000& * hH = 12& 1,200
Odlei XS =¢8ty| 50,000& = 5 x 4& 1,000
O#dAXRS L= 50,000 = 1H = & 300
OA X H MY 750,000 = 2 1,500
OAFKXF OH &Y 750,000 = 2 1,500
OAMYI OFHX& 50,000& * 251 = 10& 1,000
2EH S 3,500 3,500 0
201 gBt24Ay| 3,500 3,500 0
03 A2 G H| 3,500 3,500 0
ORFM 2 3,500,000 3,500
Mol s 2el 4,728 4,728 0
201 LBt ]| 432 432 0
02 2224 H| 432 432 0
OMoll 7S 2522 2AAE S4lH|
36,0008 = 12&€ 432
202 04| 1,296 1,296 0
01 2Ll 1,296 1,296 0
OMols g4
81,000& x 28 * 22 x 43| 1,296
307 2Iz2t0| A 3,000 3,000 0




SH: FOIMBIHA
MY ZOMBNAMUA HLHH 7S
S HAANE ES (cho &)
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 sd =t 3,000 3,000 0
O=2 Mol maoIy 2=24HAHH K&
300,000& = 100+ 3,000
A 22X 20,000 12,000 8,000
= 10,000
Al 10,000
301 LBt A= 20,000 12,000 8,000
= 10,000
Al 10,000
01 Al E & A 462 20,000 12,000 8,000
OXa=g 212 X 20,000
& 10,000
Al 10,000
FOMEXRANLA XNSHHA 2S5 23,992 21,292 2,700
FOIMETR|ANH AN 29 20,432 17,732 2,700
201 LBt Y| 3,600 400 3,200
01 AP 22| d| 3,600 400 3,200
OF0MEXRFANEA EES HZ
200& * 2= * 1,0000H4 400
OFCIMETAANHA H 2 (4IH20)
50,0003 * 40420k = 8 = 23] 3,200
202 o4 | 5,832 5,832 0
01 2L I 5,832 5,832 0
OFQMEBTANHA 2EX
81,000& * 2% * 3Y x 123 5,832
203 R F & 10,000 10,000 0
03 AIZH =X 25X H| 10,000 10,000 0
OMASE MEOHHHH 10,000
301 et A= 1,000 1,500 A 500
09 HAIAHI BEAZ 1,000 1,500 A 500
OMEZ22r I QLIHY OHl 24 1,000
H=135 2 2422 3,560 3,560 0
201 et | 3,560 3,560 0
02 32%H| 3,560 3,560 0
OANEZ X2l 2,000
ORUZIBIAIAY ets4r
130,000 * 12& 1,560
NIAEA 2435 242,932 205,115 37,817
= 22,943
= 7,000
Al 212,989
ANBSAHEEH 29 X3 139,401 125,186 14,215




SH: FOIMBIHA
Hau: ZoMBNAMHA BYHH 7=
Sl MRS A 245 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 139,401 125,186 14,215
10 AL SXAIEEE 2 H EX 139,401 125,186 14,215
OB XNISAMEH 2 139,401
NHASAR 4 3,645 4,905 A 1,260
202 o4dl 1,620 1,620 0
01 = LH o4 1l 1,620 1,620 0
OXFASA 8H3 A2EA
81,000& = 298 = 22 « 53| 1,620
301 et d = 2,025 3,285 A 1,260
09 HALAHIE& S 2,025 3,285 A 1,260
OXESALHE &IHX o4Hl 81,000% + 259 2,025
AHRSAH 2COUOIH X 42,056 41,216 840
= 21,028
Al 21,028
307 21201 A 42,056 41,216 840
= 21,028
Al 21,028
10 ALSISXAIEEE2FHEX 42,056 41,216 840
OXEsA 2OUIOIH XA 42,056
= 21,028
Al 21,028
NESAXN B2 X3 3,830 3,808 22
= 1,915
Al 1,915
307 gl2tol & 3,830 3,808 22
= 1,915
Al 1,915
11 ALS S XAEE = 3,830 3,808 22
ONJSAA 282 K& 3,830
= 1,915
Al 1,915
H2SAHEEHAMYE 2 T2 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
11T MIZSXASEEX 40,000 30,000 10,000
O SAHHEH At 2Y K& 40,000
ANASAHEEH Z208 29 AHEE XJAY 14,000 0 14,000
< 7,000
Al 7,000
307 21201 A 14,000 0 14,000
< 7,000
Al 7,000
11T MISRASEEX 14,000 0 14,000




SH: FOIMBIHA
Y FOMESXIAAMEA BLHH 25
S UHSA 2HS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONIASAEE T2 2Y CIHEE XA
e 14,000
= 7,000
Al 7,000
UAEE SEANHIA J|BIES 854,216 581,108 273,108
= 319,216
X 52,629
Jl| 61,200
< 34,011
Al 387,160
NAsEE 28 N& 14,084 13,434 650
201 £B-2%H| 2,900 2,250 650
01 At 22l 2,900 2,250 650
O=F2 SANMHA g2 FH 500
O=XANHA St 222 HME
2,000& 4002 800
OZsS=sXAY 22 M
100& * 6,0000H 600
Os&dl=s HHe g2 100& = 10,0008 1,000
202 04 tl 5,184 5,184 0
01 = LH 4 HI 5,184 5,184 0
OXEE MEBIAHA HR2FA
81,000& = 2 * 2 * 163l 5,184
203 YR =2t 6,000 6,000 0
03 Al =AY 2= 6,000 6,000 0
OXSEMEIAHA XNJAHHH =& 6,000
AzlEXEos 2EX& 68,054 68,054 0
< 13,000
Al 55,054
307 gl2tol & 68,054 68,054 0
< 13,000
Al 55,054
02 IZHE M AHE L 3,054 3,054 0
OB AtEI =X E XI& 3,054
10 ALSISEXAIEEE2GHEX 65,000 65,000 0
OAMA=RNEds 2 65,000
< 13,000
Al 52,000
NAMAEHE AN 2 47,800 32,100 15,700
< 6,000
Al 41,800
201 Let249y| 2,800 2,100 700
01 At 22l 2,800 2,100 700
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SH: FOIMBIHA
Hau: ZoMBNAMHA BYHH 7=
Sel: AEE SHMUIA JYRE (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OXN<G A MHI A EXAMY E22 M 3,000
Xl 2,400
Al 600
XA =XHE X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
11 AISI S XA E X 5,000 5,000 0
OX < AE =X U3 5,000
N2 SeAd 22 K& 15,000 15,000 0
= 7,500
Al 7,500
201 Let24d] 7,500 7,500 0
= 3,750
Al 3,750
01 At 22/l 7,500 7,500 0
OAtellZelAtE 29 7,500
= 3,750
Al 3,750
301 L2 L= 7,500 7,500 0
= 3,750
Al 3,750
01 A3l EE E 56l = 7,500 7,500 0
O=XAEA XA 7,500
= 3,750
Al 3,750
EAEXNEHE A KA 80,000 100,000 220,000
307 21201 A 80,000 100,000 220,000
11 AISI S XA E X 80,000 100,000 220,000
OBtXI-A 4 Se=sHH 29 80,000
ZEW3 29 I&A 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T AL SRAEE = 10,000 10,000 0
OFEEWI ALY K& 10,000
SBASTAAEY (s]Led) 2 4,640 3,320 1,320
201 LB-2dH| 4,640 3,320 1,320
01 At 2t 2/l 2,000 2,000 0
OBHSXANAAE (5 Yel )EE S 2,000
02 =224l 2,640 1,320 1,320
OEA=SXNHHAAAE 7XE 4| 2,640
S Atell &2l AL eI AHl K& 29,352 16,800 12,552
= 14,676
Al 14,676
101 @124l 29,352 16,800 12,552
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X ZH -
L= B

el

FoMERAA
FOMEXRAHA HLHH 2
YES SHAHA B2

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 14,676
Al 14,676
04 JI2ZtHIZ22NEE S 29,352 16,800 12,552
OSE At ZeIAH1H) 29,352
= 14,676
Al 14,676
S0s U4EFE SEMHA X 67,200 0 67,200
= 47,040
Al 20,160
201 et 33,600 0 33,600
= 23,520
Al 10,080
01 AR 22l ] 33,600 0 33,600
OZ2XsdEs 5 Y58 SSAMNHA 2FHH|
X & 33,600
= 23,520
Al 10,080
301 et A= 33,600 0 33,600
= 23,520
Al 10,080
01 M EXEE 4562 33,600 0 33,600
OZ2XdEs 5 =8 S AMHA N 33,600
= 23,520
Al 10,080
Sos dsg SEAMHA KR (KA) 11,000 0 11,000
201 £Bt24d| 7,800 0 7,800
01 AP 22| H| 3,000 0 3,000
O=2XsEes =% g8 3,000
03 Al A H| 4,800 0 4,800
O=2XsEs slasgs 43 (s) 4,800
301 et A= 3,200 0 3,200
09 HAIAHI EAZ 3,200 0 3,200
O2xs8es ozags e & 39 ME(s) 3,200
0ol SXAHA JIHE XK 122,400 0 122,400
J| 61,200
Al 61,200
405 XHAHF S HI 122,400 0 122,400
J| 61,200
Al 61,200
01 XAt 2 ZF S| 122,400 0 122,400
O=0IIt=E EXNAMHIA XSRS 122,400
J| 61,200
Al 61,200
EANYRO M2t 11,704 11,704 0




SH: FOIMBIHA
Hau: ZoMBNAMHA BYHH 7=
S ZAMYRY M2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SXNHaT &2 SE XA 10,484 10,484 0
201 L2 b 4,484 4,484 0
01 At 22l 2,000 2,000 0
OSgx=AYE 28 2727 ¢ 1,000
Oodglg 222 st
1,000& * 1,0000H 1,000
02 2324l 2,484 2,484 0
OsSEXAXE XsIHA 84,000& = 13l 84
OSEXZAXE SR 2e 200,000& * 123 2,400
202 od4dl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
OSXNHAX H24Y 2,000
OFRLoYR A MEAME] & X XA 1,000
301 et d = 3,000 3,000 0
01 MEI2EZE 5= 3,000 3,000 0
Og=aE Ul =25+
20,000& » 1500t 3,000
Slags 22 1,220 1,220 0
201 Let249] 1,220 1,220 0
01 At 22l 1,220 1,220 0
Oaga &#3NMA 250,000& * 23 500
Ogzi s G2 60,000& = 12& 720
ABI=X JlE EA 304,851 71,900 232,951
< 251,480
Al 53,371
NDAeSX J1g 2= 304,851 71,900 232,951
< 251,480
Al 53,371
MEERNNE B3 10,560 10,560 0
< 2,112
Al 8,448
201 Let2d] 10,560 10,560 0
< 2,112
Al 8,448
01 At 22l 10,560 10,560 0
OZ2AE=EXNA2 BE3(220Y) 10,560
S 2,112
Al 8,448
CHAtEOHE SEX& 55,541 60,590 A5,049
< 11,108
Al 44,433
301 LA F 55,541 60,590 25,049
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Sl RGABI =X Jlg 1E (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
< 11,108
Al 44,433
01 MEI2BZE+06l= 55,541 60,590 A5,049
ODnSsn 4oz 2 283 40,541
< 8,108
Al 32,433
ousts=E= 15,000
< 3,000
Al 12,000
SE0IEF=UXH ALY 750 750 0
< 260
Al 490
301 L2 L= 750 750 0
< 260
Al 490
01 MEIBEZE+06l= 750 750 0
Osstolg=0l H s&Eigs X 700
< 210
Al 490
O=8 082 JH =sH&dHl X2 50
< 50
S§HZXNE MASZE AHwsH XA 238,000 0 238,000
< 238,000
308 AAIEHHSOIA 238,000 0 238,000
< 238,000
08 WSII20HetE = 238,000 0 238,000
OHZXNY MASSE NHLEH X2AY 238,000
< 238,000
=JtEE2el 2 X& 459,025 472,750 N 13,725
= 200
Al 458,825
=3 2S5 459,025 472,750 N 13,725
= 200
Al 458,825
=2hs34 X 116,925 131,850 A 14,925
201 LB-2dH| 4,000 5,000 A 1,000
02 =224l 4,000 5,000 21,000
OZEANEE S22 L 2#Z2FY|
2,000,000& * 200 £ 4,000
202 Oddl 972 972 0
01 =S LHA YI 972 972 0
OE=g® =& 81,0008 » 2H » 22 * 33| 972
301 L2 A S 6,100 6,100 0
01 MEIBEZE 053 6,100 6,100 0
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FolMERAA
¥y 2)PEzel L Y
e 202X EXNSH (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 4,100 4,100 0
01 AP 22| H| 2,000 2,000 0
OUcAME (22)34A 2 u(2AxF)
1,000,000& * 23| 2,000
03 A2 G H| 2,100 2,100 0
O£+ (ZLEX) 200,000 = 104 200
Os£=2 A HYH(EEE) 60,000& = 204 1,200
O A XHY| 300,000 « 2CH 600
Ostet 100,000& = 1J4 100
301 et A= 3,500 3,500 0]
09 HAIAHI EAZ 3,500 3,500 0
O6.258 A 2O 22X 24 &
7,000& * 500 3,500
AE . QM 22 667,661 268,403 399,258
= 104,622
= 221,000
Al 342,039
AE - BE 2 667,661 268,403 399, 258
= 104,622
= 221,000
Al 342,039
SA2ESEAS 30,368 30, 368 0
301 et A= 30,368 30, 368 0
11 J|EtE A= 30,368 30, 368 0
O2Y % AHeYr +E2 2
18,000 = 60 & = 12&€ 12,960
ORBY & gelgh MY D &
890& * 100H * 60IHA = 128 6,408
ORgAAL EXE AX 100,000& = 2500 & 2,500
ONMsHE 2As5gA HOYEE XN
25,0003 * 10004 2 2,500
OZesA MFJ ZHINY L MBI X
500 * 5000 * 2 x 12000 &~ 6,000
A ZOLA 22| 19,049 18,891 158
101 e1214| 7,815 7,307 508
04 JIZtHI22XNEE S 7,815 7,307 508
SEHEUNE QLIHRE olAHH| 7,815
ollza 51,760 * 18 x 120 6,212
oFxE LG 51,760& * 1 » 24 1,243
o 2HAH| 3,000& « 1€ * 120¢ 360
201 et 1,400 1,750 A 350
01 AP 22| H| 1,400 1,750 A 350
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SH: FOIMBIHA
M AE QM 2L
Sl AR BE M (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,122
201 LBt Y| 2,244 2,244 0
= 1,122
Al 1,122
02 2=2=24%4| 2,244 2,244 0
OALIE ASBotd e S8 S| 2,244
= 1,122
Al 1,122
SA =gt A SHHAINHALY 399,000 0 399,000
=} 171,000
Al 228,000
402 SI2F X0l ™ 399,000 0 399,000
& 171,000
Al 228,000
02 QX2 A E X (0| THS) 399,000 0 399,000
02018 EasH=dZ (HH SA& . =eHA A &
2 399,000
= 171,000
Al 228,000
Helo|IJIsA s M2 24 5,500 5,500 0
= 2,750
Al 2,750
301 et A= 5,500 5,500 0
= 2,750
Al 2,750
11 J|EtE A= 5,500 5,500 0
OgoIIsaE de2ed &= 5,500
= 2,750
Al 2,750
AL ZAIE S S| 1,500 1,500 0
= 750
Al 750
301 et A= 1,500 1,500 0
= 750
Al 750
11 JIEtE A= 1,500 1,500 0
OALIHZAIY E=H| 1,500
= 750
Al 750
HESHAL| (FOIME T RAA) 134,576 141,440 N6,864
= 45,972
Al 88,604
JlE&d| 38,312 35,232 3,080
Jl2 &4l 38,312 35,232 3,080
201 Bt 32,192 29,112 3,080
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01 At 22l 27,992 24,912 3,080
ORM2g JI23tl 200,000 * 123 2,400
OANREE FA(SAMX S) 200,000& = 128 2,400
OMFAIRIII 428 ¢
200,000& = 804 23l 3,200
O=ZAI(E8l)gxz
220,000& * 200 = 12& 5,280
Odza=x) gz 50,000& = 12& 600
O= &l 7,000 * 249 « 74 « 123 14,112
02 3323l 4,200 4,200 0
ORERS 350,000& = 12& 4,200
202 oddl 1,920 1,920 0
01 = LH o4 1l 1,920 1,920 0
OHla2% 21U : bl 1,920
203 YR =&t 4,200 4,200 0
04 BENSSHR =L 4,200 4,200 0
ORA2EIRFaHI 350,000& = 12& 4,200
ol 2d | 96,264 106,208 A9,944
= 45,972
Al 50,292
olA2HH| (S &AL 22l AL) 96,264 106,208 29,944
= 45,972
Al 50,292
101 @14 Hl 96,264 106,208 29,944
= 45,972
Al 50,292
03 RIAHAZZ N+ 96,264 106,208 A9,944
OSE At 22l AH(3Y) 91,944
= 45,972
Al 45,972
OFHZAHI(3Y) 120,000& » 3F = 1204 & 4,320
Hegs(Foazxaa) 729,207 736,458 AT7,251
HEHHKE 729,207 736,458 AT,251
HEHN X = 729,207 736,458 AT,251
701 JIEtSI HEHES 729,207 736,458 AT,251
01 JIEtSIHE &3 729,207 736,458 AT,251
OS2 EE8IH dES 729,207




